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1. The sum(.¥#=) of four consecutive(i# 42 49) integers (% %%) is 26. Their product(FAR) is

N
2. If x®yisdefined (;€3L) as x-y+(x-y), whatisthe value ({&) of 5@27? . Q\Jugevgve\/
PRI %
PRI 2 CHNIEIUF ).

3. Inthe figure (#=&) , two regular pentagons (iE £ A5) have been attached to a regular hexagon (iE7<

5. John’s age, in years, is equal (#8355 89) to the sum of the ages of his three children. Twelve years ago, John’s
AA5)  tocreate a 12-gon (+ =34 #) . If each regular polygon (iE %A A) has side length (iZK) 3

age was equal to twice (#4Z) the sum of the ages of his three children then. How old is John currently (%
meters, what is the perimeter (8K ) of the resulting 12-gon?
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6. George decides to build a tower (35) 555 feet (32 R) high. He has blocks (K3t) of height 30 feet and
blocks of height 21 feet. What is the smallest (/v 4J) number of blocks that he can use?
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4. For the grand ball (#%#4°) , a princess wore (§ #) the bracelet (F4%) with dark and light pearls (3% R HREIR SN2, JUF IR S A L=t . A tite, T2 T=4
#k) shown in the figure. After the ball, she unfastened (#%7F) the bracelet between two pearls and put it in H): tedz) ), BOHGE, SO .

a chest (#8-F) . The next evening, she wanted to wear the same bracelet but there were many similar (481

%) bracelets in the chest.




"»

2019 4 “JH4E 100” STEM FEM ARG ES) (FF)
=FR
2y 4
T FIR & B, A1 T & AT =AM AR . T4, UFROTEEASRIO C | 9. Scratch SFES B, A =FAHEZA . 755 X AR KA E 47K, I B4 HEI T
6 DA 0 0 I e e — FEL T P PO DA ), /B A 45 f e 2 S 2 O

RKH 1. A

ANTiIA, SOREREREEE CEEXS ek — i B - R (e We 2
R 2. » A
ﬁ Q i }@ h -

AETTH, R NI 5) U2 AR .
Ao A B AR BHER: A B A AR IR e . AR A RS AT TR A TR e PR
B. Zel A NRCTEINEHIER,, A A RN e . AR A RS AT I R A IR e PR
C. Zelh A RN EHieRe, A A RN e . 2B A e AT I TR A I ER e R
D. e A ARCTEIN e, AT A RN e . A A RS AT R A IR TiE R R
—. HZTE B (AAREI 2 /N, BEE 154, #3049

8. MR ik Scratch F2F7, HITIEIIHA 4 HIME N 500, NIHE 21 A=

AREMEEES DT




